AMDM Unit 5 Exam



Name _____________________________________

Choose the best answer for each question.

	Use the following chart to answer question numbers 1-4.  Make sure your calculator is in radian mode for these questions.

Length of Daylight for Sydney, Australia

Date

Day Number

Minutes of Daylight

Jan. 1

1

862

Feb. 1

32

824

March 1

60

764

April 1

91

703

May 1

121

644

June 1

152

602

July 1

182

595

Aug. 1

213

627

Sept. 1

244

683

Oct. 1

274

745

Nov. 1

305

808

Dec. 1

335

853



	1.  Which of the following is the correct equation for the length of daylight for Sydney? 
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	2.  What is the minimum value of the data?
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	3.  Which of the following is NOT true of two cities that are the same distance from the equator but on opposite sides?
A. The length of daylight for both cities will create a sinusoidal graph.

B. Twice during the year these two cities will have the same about of daylight.

C. The two cities will have opposite seasons

D. The maximum amount of daylight of the city that is in the northern hemisphere will be significantly greater than the maximum amount of daylight of the city in the southern hemisphere


	4.  Which of the following is NOT true of your minimum value of your data?

A. It shows that winter is during June and July.

B. It will happen approximately 6 months from when the maximum value occurs.

C. It shows that the shortest amount of daylight during the year will be approximately 172 minutes

D. It will occur at approximately the same time of year each year.


	5. Adam put larger wheels on his skateboard. He noticed it would coast farther and decided to test this relationship. He collected some skateboards, attached wheels of various sizes and rolled them to see how far they would roll on their own. His data is in the table below.

Wheel diameter (cm)

1

2

3.5

5

5.5

7

8.5

9.5

10

Rolling Distance (in.)

17

23

32

30

36

52

57

55

70

Sketch a scatter plot of the data and label your axes.  Use your calculator if necessary.
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	6. Letter grades are assigned using the following scale:  0 through 69 is an F, 70 through 79 is   

              a C, 80 through 89 is a B, and 90 through 100 is an A.  Which of the following types of 

              functions best describes the graph of this grading scale?

        a. Exponential function


           b.  Logistic growth function   


        c.  Step function 



           d.   Sinusoidal function



	7. In the Texas Hurricanes Problem where Saffir-Simpson Categories were assigned, is the graph 

discrete or continuous?  Why or why not?


	8. Peter gets paid $20 just for accepting a yard job.  He then earns $3 for every hour spent on gardening. Write a recursive rule that shows the amount of money he earns.
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	9. Which situation is least likely to have a strong linear relationship? (Explain why the answer chosen is “better” than the others.)

A. An adult male’s shoe size compared to his height

B. The number of hours a laptop is used without a direct power source compared to the amount of battery life that remains

C. A student’s test score compared to the amount of time a student spends practicing the skill being tested

D. The amount of formal education a person has completed compared to the income level of that person.


10. Explanation:

	John, a graduating senior at Bowie High School, is opening a savings account and initially puts in the $1800 that he received in graduation money.  He never adds anymore of his own money, and the bank pays an interest of 15% per year.

11. the correct closed form/function rule for this scenario?
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12.  Until John has at least $1,000,000 in his savings account?

A. 38 years

B. 46 years

C. 64 years

      D.  He will never reach that amount in his lifetime

	13. Which of the following is the correct explicit function rule for   
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In other words, which equation will produce the same values as the implicit rule shown?
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	14.  Pizza Hut sells a large cheese pizza for $10 each and $.50 for each additional topping.  Which of the following is the correct function rule for this situation?
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	 Given below is a scale for rating the strength of a tornado based upon wind speeds.  In this example, assume that wind speeds are always rounded up to a whole mph.


Tornado F-Scale

F0

Gale Tornado

40-72 mph

F1

Moderate Tornado

73-112 mph

F2

Significant Tornado

113-157 mph

F3

Severe Tornado

158-206 mph

F4

Devastating Tornado

207-260 mph

F5

Incredible Tornado

261-318 mph

F6

Inconceivable Tornado

319-379 mph

   15.  If wind speed is the x-variable, what is the appropriate way to state the domain for an F4 tornado?

   a. 207 < x < 260
b.  207 ≤ x ≤ 260
       c.  207 < x ≤  260          d.  207 ≤  x ≤ 260

   16.  Create an accurate graph to illustrate Tornado rating versus wind speed.



	17.  Construct a graph of a piecewise function on the interval 0 < x < 15 where: 

      when 0 < x < 4 f(x) is linear 

      when 4 < x < 15 f(x) is quadratic
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